
Divide by 10⁻¹ (I)Find each quotient.
25 ÷ 10⁻¹ = 98 ÷ 10⁻¹ =
28 ÷ 10⁻¹ = 8 ÷ 10⁻¹ =
39 ÷ 10⁻¹ = 43 ÷ 10⁻¹ =
2 ÷ 10⁻¹ = 99 ÷ 10⁻¹ =
97 ÷ 10⁻¹ = 31 ÷ 10⁻¹ =
32 ÷ 10⁻¹ = 32 ÷ 10⁻¹ =
44 ÷ 10⁻¹ = 49 ÷ 10⁻¹ =
92 ÷ 10⁻¹ = 83 ÷ 10⁻¹ =
26 ÷ 10⁻¹ = 25 ÷ 10⁻¹ =
76 ÷ 10⁻¹ = 79 ÷ 10⁻¹ =

Math-Drills.Com



Divide by 10⁻¹ (I) AnswersFind each quotient.
25 ÷ 10⁻¹ = 250 98 ÷ 10⁻¹ = 980
28 ÷ 10⁻¹ = 280 8 ÷ 10⁻¹ = 80
39 ÷ 10⁻¹ = 390 43 ÷ 10⁻¹ = 430
2 ÷ 10⁻¹ = 20 99 ÷ 10⁻¹ = 990
97 ÷ 10⁻¹ = 970 31 ÷ 10⁻¹ = 310
32 ÷ 10⁻¹ = 320 32 ÷ 10⁻¹ = 320
44 ÷ 10⁻¹ = 440 49 ÷ 10⁻¹ = 490
92 ÷ 10⁻¹ = 920 83 ÷ 10⁻¹ = 830
26 ÷ 10⁻¹ = 260 25 ÷ 10⁻¹ = 250
76 ÷ 10⁻¹ = 760 79 ÷ 10⁻¹ = 790
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